

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. YN 3780S

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DISTORTED	1,830.00	1,830.00
2	FRONT BUMPER LAMP @\$293.30	NO SUCH PARTS	586.60	-
2	FRONT HEAD LAMP @\$1302.40	O/S BROKEN	2,604.80	1,003.20
2	FRONT HEAD LAMP OUTER GARNISH @\$497.40	O/S BROKEN	994.80	497.40
2	FRONT CORNER PANEL @\$383.60	O/S BROKEN	767.20	383.60
2	FRONT SIGNAL LAMP @\$212.00	O/S BROKEN	424.00	212.00
1	FRONT GRILLE	CRACKED	978.10	795.17
1	FRONT GRILLE PANEL	NO SUCH PARTS	197.60	-
1	FRONT GRILLE GARNISH	NO SUCH PARTS	576.40	-
1	FRONT GRILLE WEATHERSTRIP	NO SUCH PARTS	48.10	-
1	FRONT GRILLE "MITSUBISHI LOGO" MOTIF	NOT NECESSARY	155.30	-
1	FRONT "FIGHTER" EMBLEM	NOT NECESSARY	155.30	-
1	FRONT "FUSO" MARK	NOT FITTED	280.10	-
1	FRONT RADIATOR SPARE TANK	NOT NECESSARY	237.60	-
2	BOTTLE FRONT RADIATOR COOLANT @\$48.00	NOT NECESSARY	96.00	-
1	FRONT PANEL	BENT / CRACKED	3,263.20	3,263.20
2	FRONT PANEL HINGES @\$128.90	O/S BENT	257.80	128.90
2	FRONT PANEL HINGES HOLDER @\$262.80	O/S CRACKED	525.60	262.80
2	FRONT PANEL LOCK @\$114.40	NOT NECESSARY	228.80	-
1	FRONT PANEL LOCK CABLE	NOT NECESSARY	276.20	-
1	FRONT WINDSCREEN GLASS	BROKEN	2,360.00	2,250.00
1	FRONT WINDSCREEN WEATHERSTRIP	TORN	691.50	466.50
2	FRONT WIPER ARM @\$227.10	O/S BROKEN	454.20	227.10
1	FRONT WIPER LINK	NOT NECESSARY	1,257.70	-
2	FRONT WIPER BLADE @\$77.60	O/S MISSING	155.20	77.60
1	FRONT WIPER PANEL	BADLY DENTED	3,263.20	2,645.30
1	FRONT SIDE MIRROR ARM	BENT	1,923.60	987.31
1	FRONT SIDE MIRROR ARM HOLDER TOP	NOT NECESSARY	80.40	-
1	FRONT SIDE MIRROR ARM HOLDER LOWER	TWISTED	50.70	50.70
1	FRONT SIDE MIRROR "ROUND"	NOT FITTED	142.00	-
1	FRONT SIDE MIRROR "SQUARE"	NOT FITTED	188.80	-

Report Ref No. CS/EGI18019018/Utbe2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT SIDE MIRROR "RECTANGLE"	BROKEN	159.90	159.90
2	FRONT CHASSIC HOLDER @\$822.30	NOT NECESSARY	1,644.60	-
1	FRONT CHASSIC BAR	NOT NECESSARY	669.00	-
1	FRONT FLOOR PANEL	TO REPAIR SEE LABOUR	4,383.20	-
1	FRONT INNER PANEL	BADLY DENTED	4,968.00	4,968.00
1	FRONT WIPER TANK	NOT NECESSARY	326.60	-
1	FRONT AIRCON BLOWER	NOT NECESSARY	1,230.50	-
1	FRONT AIRCON CONTROL UNIT	NOT NECESSARY	2,801.50	-
1	FRONT AIRCON EVAPORATOR UNIT	NOT NECESSARY	2,458.70	-
1	FRONT FAN BLADE	NOT NECESSARY	557.00	-
1	FRONT FAN CLUTCH PULLEY	NOT NECESSARY	1,394.00	-
1	FRONT FAN COWLING	NOT NECESSARY	496.30	-
1	FRONT RADIATOR	NOT NECESSARY	5,489.40	-
1	FRONT WATER PUMP	NOT NECESSARY	863.80	-
1	FRONT WATER HOSE	NOT NECESSARY	271.20	-
1	FRONT STEP PANEL LOWER	CRACKED	485.30	485.30
1	FRONT STEP PANEL TOP GARNISH	BROKEN	876.70	876.70
1	FRONT CORNER PANEL	REPEATED	1,183.70	-
1	FRONT INNER INSTRUMENT BAR	NO SUCH PARTS	382.80	-
1	FRONT ROOF PANEL	BADLY DENTED / BUCKLED	4,342.90	4,342.90
1	FRONT ROOF PANEL INNER TRIM LINNING	WARPED	1,165.00	1,165.00
1	FRONT ROOF DRIVER SUNLIGHT COVER SHIELD	NOT NECESSARY	277.60	-
1	FRONT DASHBOARD	DISTORTED	3,650.00	3,225.30
1	FRONT DASHBOARD INNER FRAME MEMBER	NOT NECESSARY	1,165.00	-
1	FRONT METER ASSY	CRACKED	2,712.20	2,542.98
1	FRONT BRAKE BOOSTER	NOT NECESSARY	3,374.60	-
1	FRONT POWER STEERING BOX ASSY	SERVICEABLE	5,766.70	-
1	FRONT POWER STEERING SHAFT	SERVICEABLE	2,720.40	-
1	FRONT POWER STEERING SHAFT CENTRE	BENT / TWISTED	1,954.70	1,896.11
1	FRONT POWER STEERING COOLING PIPE	NOT NECESSARY	1,292.00	-
2	FRONT CABIN REAR SAFETY LOCK @\$494.65	NOT NECESSARY	989.30	-
2	FRONT CABIN REAR LOCK HANDLE @\$547.90	NOT NECESSARY	1,095.80	-

Report Ref No. CS/EGI18019018/Utbe2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT CABIN LOCK STRIKER @\$451.65	NOT NECESSARY	903.30	-
2	CABIN REAR LOCK BRACKET @\$461.50	NOT NECESSARY	923.00	-
1	FRONT RH DOOR	DISTORTED	2,946.80	2,946.80
1	FRONT RH DOOR PILLAR OUTER	BADLY DENTED	1,860.00	1,860.00
1	FRONT RH DOOR PILLAR INNER	BADLY DENTED	1,145.50	1,145.50
1	FRONT RH DOOR INNER LOCK	TWISTED / JAMMED	630.00	450.00
1	FRONT RH DOOR OUTER HANDLE	NOT NECESSARY	260.00	-
2	FRONT RH DOOR HINGE @\$145.00	BENT / TWISTED	290.00	290.00
1	FRONT RH DOOR INNER TRIM BOARD	BROKEN	780.70	780.70
1	FRONT RH DOOR INNER RUBBER	NOT NECESSARY	375.00	-
1	FRONT RH DOOR REAR PILLAR	BADLY DENTED	2,124.54	2,124.54
1	FRONT RH WHEEL ARCH PANEL	BENT / BUCKLED	845.20	845.20
1	FRONT RH WHEEL ARCH PANEL GARNISH	CRACKED	374.60	374.60
1	FRONT RH WHEEL ARCH PANEL SEAL	NOT NECESSARY	263.00	-
	LESS 25% DISCOUNT		-	-11,390.08
			99,920.84	34,170.23
	SPECIAL NETT ITEMS			
1	FRONT WINDSCREEN GLASS IU BRACKET (SN)	NECESSARY	28.00	20.00
1	SET FRONT RH DOOR INNER TRIM BOARD CLIPS (SN)	NECESSARY	65.00	50.00
			93.00	70.00
	<u>LABOUR</u>			
	TO CHECK ALL WIRING & ELECTRICAL COMPONENT FOR PROPER FUNCTION.		250.00	30.00
	TO REMOVE, REPLACE AND TRANSFER DOOR PANEL, FITTING AND MECHANISMS.		100.00	60.00
	TO REMOVE & REFIX AIR CON, RE-FILL AIR CON GAS & TEST FOR LEAKAGES.		150.00	100.00
	TO CHECK AND RE-ADJUST WHEEL ALIGNMENT.	NOT NECESSARY	120.00	-
	REMOVE & REINSTALL WINDSCREEN GLASS TO FACILITATE REPAIRS & PERFORM WAT.		150.00	150.00
	REMOVE & REINSTALL DASHBOARD, METER INSTRUMENTS, DISCONNECT WIRING &.		280.00	250.00
	REMOVE & REFIX ENGINE & SUSPENSION SYSTEM INORDER TO FACILITATE REPAIR.	NOT NECESSARY	800.00	-

Report Ref No. CS/EGI18019018/Utbe2



Page No.:4 of 4

31,000.00

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REMOVE & REFIX & REALIGN REAR FREEZE BOX.	NOT NECESSARY	650.00	-
	TO REMOVE & REPLACE FREEZE BOX COMPRESSOR.	NOT NECESSARY	450.00	-
	TO RESPRAY UNDERCOOLING. }		280.00	100.00
	TO APPLY RUST PROOFING, RESEAL TUFF-COATING TREATMENT ON ACCIDENT AREA. }		180.00	-
	TO PUTTY & SPRAY PAINTING & INCLUDING TOUCH UP PAINT ON ACCIDENT AFFECTED.		2,200.00	1,400.00
	LABOR FOR PANEL BEATING, CUT, WELD, STRAIGHTEN & REPLACING PARTS ETC. INCLUSIVE OF THE REPAIR OF FRONT FLOOR PANEL.		3,000.00	2,500.00
	TO MOUNT VEHICLE ONTO CHASSIS ALIGNMENT BENCH & TO CONDUCT ALIGNMENT.	NOT NECESSARY	2,800.00	-
			11,410.00	4,590.00
	GRAND TOTAL		111,423.84	38,830.23

Report Ref No. CS/EGI18019018/Utbe2

RECOMMENDED COST OF LUMP SUM REPAIRS

(TO ITS PRE-ACCIDENT CONDITION)

CHUA KANG SENG

Licensed Appraiser